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Q.1 Estimate the difference by rounding off. Also find the actual difference_
(@) 6 5 roundedoff = F O (g) 7 8 roundedoff

— 4 3 rounded off _ L' o - 2 5 rounded off
2 -2 T A0 " B 3
(b) 7 3 roundedoff =7 @ (h) 6 2 roundedoff
— 2 7 roundedoff _ 2 0O — 3 3 roundedoff
ot o “ 4o =X
(c) 8 6 roundedoff g o (i) 4 6 roundedoff
— 4 9 roundedoff _ B0 — 2 8 rounded off
3% O )
(d) 5 7 roundedoff 6 O () 3 2 rounded off
— 3 5 roundedoff — 4 O | — 1 6 roundedoff
2 2 Z0 16
(e) 7 8 roundedoff Q¢4 (k) 8 3 rounded off
— 5 6 roundedoff _ 60 — 1 6 rounded off
2 2 — 20 63
() 9 4 roundedoff |gp () 5 5 roundedoff
— 6 8 roundedoff _ 39 — 4 1 rounded off
2 6 —T0 EEE
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